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√
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√
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√
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2J

∀m ∈ GJ , a[m] =
aJ [m]√

s[m]
.

j J 1 n Nj 1 m̃ = αj(n) m = m̃+Aj[m̃]

s̃ = s[m] − s[m̃]

a[m̃] = a[m] + dj[m̃]

√
s̃√

s[m̃] s[m]
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â =
s[m] a[m] + s[m̃] a[m̃]

ŝ
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ŝ = s[m] + s[m̃]

dj [m̃] = (a[m] − a[m̃])

√
s[m]s[m̃]√

ŝ
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NULL ŝ += 0 â = (a[m̃] + a[m])/2 a[m̃] = â s[m̃] += 0



ŝ = 0 s[m] = 0 s[m̃] += 0 ŝ += 0
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